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FT 3 ¥ afor & weprer @t e H 7@

FIT HEATT & 7 /

(1) weptsT @1 feremus

(2) WeIST BT FRI

(3) WHIT &1 g

(4) WBTIT & T

(5) SR @ I =

frafafaa & 1 ofx 11 & gafra &1
I 11
fa F1 9™ yIEA AT
A T~ I. 9| e
B. ¥gam = —— I %w
C. T 1. fireg (M)
D. g8t — IV, @41

(1) A-III, B-I, C-II, D-IV
(2) A-1II, B-1, C-1V, D-II
(3) A-III, B-1I, C-IV, D-I

4 A-ll, B-l, C-11I, D-IV
(5) IO & <=1 Aned

-1 9 <) 78wl @ -1 H &) 12 93 F 9y

gAfad &
w-1 wy-11
A. Aty . e
B. 3 I sgie
C. 3% Il TS 3
D. er™ IV. sEEaw

(1) A-1V, B-1, C-1II, D-II
(2) A-1V, B, C-1I, D-III
(3) A-1, B-1V, C-III, D-II
(4) A-1V, B-II, C-I, D-II
(5) Sax & 1 Awd

TET &Y Al B 3K T DY WehaT HEawl & —
L) gaig

(2) wed

(3) frsarem

(4) g

(5) IOX & < WA

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light

(5) Not attempted

Match the following I and II :

I _ II
Name of the Organ of
Organism Respiration
A. Human being [.  Trachea
B. Earthworm II. Lungs
C. Insects L. Gills
D. Fish IV. Skin

(1) A-II, B-I, C-II, D-IV

(2) A-III. B-I. C-1V, D-II

(3) A-III, B-II, C-1V, D-I

(4) A-II, B-I, C-III, D-1IV
" (5) Not attempted

Match the items in column-I with those in

column-II :
Column-I Column-II
A. Salivary gland 1.  Bile juice
B. Stomach -~ _II. Insulin
C. Liver —Z Ul Hydrochloric Acid
D. Pancreas ~ V. Amylase

Choose the correct option :

A1) A-1V, B-l, C-lII, D-II
(2) A-IV, B-1, C-II, D-III
(3) A-L, B-1V, C-III, D-II
(4) A4V, B-11I, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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(3) 39 &I TIHT 70°C AT
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(5) FaT T A1 AE

T T

9T «HT
T D

6. fmﬁgmmémﬁmﬁm—mﬁ

-~

5. frefifea § @ @ e e
(1) ¥« &1 aefi@eer
(2) Pramay W@ & & HJET I
(3) STy 1 F o § aRed
)ﬂwmamﬁ'qﬁaé’f
(5) Swx «é 1 @A

9. ﬁﬁ?wmmwﬁ“ﬁmm%?
(1) few g gearmd &7
) 7z F At A o et
0) e % draf § ofe @@ B T
(4) urg = o el &

5. Pasteurisation of milk is :
(1) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.
(2) Boiling of milk and then slowly cooling
it and storing.
(3) Heating of milk to about 70°C for about
30 seconds and then suddenly chilling it
and storing.
(4) Boiling of milk ‘and then suddenly
chilling it. o
(5) Not attempted
P~
6. Which of the following food items gives
blue-black colour with iodine ?
(1) Starch
(2) Mincrals
(3) Protein a
(4) Fat .
(5) Not attempted

7. Tyvphoid is caused by =
(1) Baciena
A42) Virus
(3) Protozoa
(4) Fungi
(5) Not attempted

8. Condensation is the process of —
(1) Evaporation of petrol

(2) Separation of sand from water by
(".

decantation
(3) Conversion of water vapour into its liquid
form »

(4) Conversion of wa}é:i into its vapour
(5) Not attempted 7

9. Large scale storage otz)gl"ains is done in :
(1) Silos and granaries._
(2) Jute bags [
(3) Jute bags and metallic bins
(4) Metallic bins
(5) Not attempted
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10. Pl & gafm =t

11.

12.

13.

14.

15.

_A37 A-lL, B-1, C-IV, D-III

-]
A AW

A. Eiq I.
B. #Be 1.
C. wusfy- I111.
D. rm:><1v. .
(1) A-II, B-III, C-I. D-IV

(2) A-IIL B-1I. C-IV, D-I

(4) A-L BIV CIH DII

(5) SOz =& 3 Ty

nﬁwaﬁaﬁqzﬁwaﬁaﬁeﬁaﬁwﬁ
THT AT T T

(1) =

(2) 91

(3) =% FH

(4) st

(5) STt =& I 9=y

T & A A B
FTE?

(1)-50 &=
(2) 30 g+
(3) 40 a9
(4) 25 a=r

(5) ST & I A=A
MY TF gewroia & o
(1) T a1 &2 B
(2) T9S & GFH & WU HT q B
(3) @S wadl B @O BT q T
(4) W W &Y & ¥

(5) ST =& I 9Ed

Frafafaa & & am-a1 Wamgifes 7
(1) sremizd

(2) avrgftE ot

(3) uftersfas

(4) qifsay FHEEe

(5) Sux =& <=1 9@y

TS Prfoiaa & @ fedas sifeamzs & 919
9T TTH Bl WiHaT © 7

(1) =t

(2) uegfifmm

(3) @i
(4) dren

(5) STX & 1 wEd

ATH AT gl
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10.

11.

12.

13.

14.

15.
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Match the following :

Column-1 Column-II
Name of the Movement
Animal

A. Snake I. Swim

B. Fish II. Slither

C. Bird III. Walk

D. Cow IV. Fly

(1) A-II, B-III, C-1, D-IV
(2) A-III, B-II, C-1V, D-I
(3) A-Il, B-1, C-1V, D-III
(4) A-L, B-1V, C-1II, D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -
1) 50 cm

(2) 30 em

(3) 40 cm

(4) 25 cm

(5) Not attempted

Pathogens are microbes which :

(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(1)~Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted
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21. Frafefas womt o R Hifg
A. s@mn ¥ 8 wematre wumm ¥
B. dagar wf@mn % werafe wwmi § 4
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SUgdad HuA (i) ¥ § B wE &7
(1) B &aw
~(2) A 3R B 2FY
B)aa AT & B
4) A Faw
(S)W‘_#ﬁfamamﬁ

22. a@m‘&aﬁﬁw%ﬁaﬁ%mmmm
TR
(1) 5&=1%
(2) FoIL
A3)
(&) Ryar
ISfG?I‘(tFI’@f%?ﬂ?ﬂ%?f

23. zﬁarvnaﬂmvgrrm%?
) Aeferar ‘
@@ﬁw
Q)Eb‘qa«.

A) a1
(S)WHﬁamam%

24, zﬁawnﬁwmﬁgmﬁwmaégaﬁ
T -
/ﬁfsﬁa 2018
() 25tb—{€n°r 2017
,@)/mmzf 2011
(4) 8 af@, 2015
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1) arig,
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21. Consider the following statements :

A. There are 8 Administrative Divisions in
Haryana

B. Panchkula is one of the Administrative
Divisions of Haryana.

Which oﬂthe above statements is/are correct?

(1) B only-

(2) BothiA'and B

(3) Neither A nor B

(4) A only

(5) Not attempted

L

22. Charkhi Dﬁdn does not share border with
which onle;‘c')f the following?
(1) Mahendragarh
(2) Jhajjar~
(3) Hisar
(4) Bhiwani
(5) Not qt}empted

23. Which is._'ﬂ;e state flower of Haryana?
(1) Dahlia™
2) ;I'ulip"‘
3) Lotus ik
4) Mangold
(5) Not attempted

24. In which year was the Pradhan Mantri Mudra
Yojana launched in Haryana?
(o 8th Apnl 2018 °
(2) 25t February, 2017
(3) 10th March, 2011
(4) 8th Alpril, 2015
(5) Not attempted
NG
25. Tomb ofdbrahim Lodi is located at :
(1) Panip’_éﬁ
) Kaitg{gafl‘
(3) Jhajjar,
(4) Bhiwani
(5) Not attempted
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C. wEta® o 1L S9En
D. &Il Wb 1V, urfiug

S oo T faedt § | € SWUHT wme i
¢ A-TV, B-IL C-I D-IT (

5y A-IL B-IIL C-1V, D-1

3) A-II1. B-1. C-1I, D-1V

(4) A-L B-IL, C-III, D-1V
(5) SEC ST I =@wd L

ﬂﬂ;ﬁﬂ‘éﬁw”ﬁ(@w&ﬁ)%ﬁe{uﬁﬁwﬁﬁaﬁ

et T R AR <o

A. e UE HET een giad 9 )

B. 9t " TGN % & HA@I & AMHD
frFomeE 1

¥ g B9 9/Q HUT G e

(1) ¥aw B

QA 8t B 3

B)TAITEB

(4) wada A

(5) Sax & AT ATed

T 1 A FAEEr
(1) 2,00,00,000 — 3,00,00,000
(2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

g
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V. oy
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ap
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(5) = & & = ok

‘o @1 aagst’ %wﬁ'@i@{,mm%?
(1) wrEe f

(2) Bwrer i

(3) @ i

(4) arraT

(5) worr wéf &= @nEd
e A

frag &7 @)
(1) femre (ﬂ))
(2) 7ot [ 4
(2] e o
(4) foar [

20.

27.

28.

29.

30.

Match List-I Tourist Centres with List-II their
location.

List-1 List-1I
A. Sky Lark I. Hodal
B. Damdama [I. Gurgaon
C. Dabchick [1I. Uchana
D. Karna Lake IV. Panipat

Choose the correct answer from the options

given below :

(1) A-1V, B-II, C-1, D-III
(2) A-11, B-III, C-1V, D-I
(3) A-III, B-I, C-II, D-IV
(4) A-1, B-I, C-III, D-IV
(5) Not attempted

Consider the following statements in respect

of the National Security Guards (N SG) :

A. It is one of the Central Armed Police
Forces. pe. 4

B. It comes under the administrative control
of the Ministry of Defence, Government

of India. '

‘Which of the above statements 1s/are correct?

(1) B only

(2) Both A and B
(3) Neither A nor B
(4) A only

(5) Not attempted

What is the approximately population of
Haryana?
(1) 2,00,00,000 — 3,00,00,000
(2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4) 1,50,00,000 — 2,00,00,000
(5) Not attempted

Formel

Which is known as the "Cherrapunji of
Haryana"? o3
(1) Kosli ol
(2) Chhachhrauli -
(3) Rewari

(4) Thanesar

(5) Not attempted

1

The ancient Fort of Madhogarh is located in
which district of Haryana? -/
(1) Hisar <
(2) Jhajjar oY
(3) Mahendragarh [
(4) Sirsa =
(5) Not attempted (=~

(5) e g Ze ArEd
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31.

32.

33.

34.

3s.

A T W s (huadr §) & ant A

frafalad womt w fEm St

A. a1 o wa & o frer & o wa & @
g o )

B. ehamm & i ug € 6 saes & o g S
g atfis ¥

SUHE H ¥ BN G HUT w8 BR T

(1) &a@ B

(D A R B Fi

B)TAIMATEB

(4) Fad A

(5) ST & < A@Ed

Taiaeer €YV quT gadq @ e § warEl @
W%@f&méﬁwvsﬁmﬂﬂmﬁw

%&ﬁm%?

(ﬂsﬁww
(3) dfsa wET=
OERtEEISESE
(5) IO & & drEd

U uﬁﬂf@fﬂ:rm/@rm?r%/%?
(1) Faw B
(2) A X B 3=t
BITIDAIRTIEB

Had A
5) S =l &A1 And

& WA fohthed A= WearT &l fhde oTwreHt
Hel faa &7

(1) dage

(2) AeT

(3) TeU™

4 wieETE

(5) waT E A1 9ed

feeet @1 fpm fesm & efmm Tw eemi
T X7

(1) =l

2) g

(3) uly@m

(4) 3t

(5) AT T I @
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31.

32.

33.

34.

35.

Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

Th B & T T / SPACE FOR ROUGH WORK
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H F &I efemy .
Lk ¥ Wt = e | 36. Which of the following is NOT a part of the

36. N
asfim T 7 traditional attire for men in Haryana?
(1M aﬂqﬁ (1) Kamri :
2) CU (2) Dohar
3) et (3) Sopali
(4) AR (4) Safa
) o i &A1 d9red (5) Not attempted
: 37. Consider the following statements :
preferiaa w9 fER @ifa
37. \ . .q-( : A. There are five Police Commissionerates
A. E il -'QT'E[ i smgee ¥ in Haryana.
B. BT ¥ gierq engeaTey e ¥ B. Faridabad has a Police Commissionerate
FugH F Y B G/ BUT T/ F? located there.
(1) B &ad . Which of the above statements is/are correct?
35 A o B 3 (1) Bonly
(S)HﬁAGﬁT?ﬁB (Z)BothAandB
@) A et . (3) Neither A nor B
\ : (4) A only
(5) ¥ Rk (5) Not attempted
3. 7@ U Fel fud &7 ' 38. Where is Brahma Sarovar located?
(1) e (1) Fatehabad
) 33"@%3[ (2) Kurukshetra
(3) feamrT (3) Hissar
(5) T & 3 A (5) Not attempted
; 39. Fomous sportsperson Yogeshwar Dutt is
ﬁga-r&ﬁ' EeS st ?
2 ??)@ﬁ b drirea? < R aa ¥ & associated with which sport? ‘
ISl : (1) Shooting
(2) e , ) © (2) Wrestling
(3) W %h : (3) Javeline Throw
@) g (4) Boxing
(5) wax A& AT @RS (5) Not attempted
0. 7 i qT @ IR a1 el %? 40. In the dance form 'Loor', the word Loor
1) : means?
Q) H’fﬁai'”m ' (1) Ornament
(2) Music
Q) waw (3) Crop
(4) =ferent (4) Girl
(5) Sux =& &7 @med (5) Not attempted
I T / SPACE FO ,
KSHR / x3 / Page 9 < @ & fTT R ROUGH WORK P.T.0.




41. The single discount equivalent to ty,

il successive discounts of 20% and 10% is -
ot (1) 25%
(1) 25% S
(2) 28%
@ 28%
) ord 3) 27%

; i @) 30%

44) 30% o,
o 5) Not attey

e N (5) No attempted

$1
{
% J

S st aﬁ A, B, C 8 D @1 g 42. The average of four consecutive numbers A,

0.5 ¥ ga B3 D TS T B B, C and D’ls 49.5. What is the product of
~ ' Band D? *
2450 o '
D | (1) 2450 U -
@ 2352 U™
(2) 2352
(3) 2550 ey
o) (3) 2550 L )
(4) 2499 ikt - ¢,
s - (@) 2499
0) v 8l gfea el (5) Not attdmpted

43. % 8000 % TRI 5% e UG T B X

43. In how many years will a sum of T 8000
W e oot ® 9261 & Wi, SR =

at 5% per dnpum compound interest,

e it ey & 7 ' compounded-annually becomes % 92612
(1) 3 ,I/ (1) 3 O
Wl ,w__;‘
2 E 2 '-‘ }
d i [
3) s 3) 5 2
Ly o
b G
1 G : 1 .,
3- — X N
(4) 3 ,) _ 4 3 3 I~
, i - ' frd

(5) WUT T Fr-arEd (5) Not attémpted

[
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44, 5-3F10 GIA B wE@m, S 12, 15 s 18 &

45.

46.

ot ¥, &0

(1) 10,015

(2) 10,020

(3) 10,080

(4) 10,010

(5) T T T

22x33x5%, 2>x32x5% 7 s

24><34x5><72x11 &1 HCF 2
(1) 2%2x3%x5x7x11

2) 24x34 x5’

3) 2% x34x5° x7x11

4 22 3% x5
(5) ST A& I 9@Ed

29.30 iy Reeiromm et AE @ i o T@
% A 8:7 & argua A fremar T AR Bt
1 e T 10 Wiy Reeim &, T T TI & T
&1 qeq Wi Reemm @@ E 7

(1) T 10.60

(2) T 10.80

(3) T 11.00

@y 1030

(5) way e A A

44.

46.

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

2
 The HCF of 22x33x 5%, 23 x3%x5°x7

and 24x34x5x72><11 is

(N 2

) 2% x3%x5°

(4) 2

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) 2 10.60

(2) ¥ 10.80

(3) T 11.00 :
(4) ¥ 10.30

(5) Not attempted

IKSHR / X3 / Page 11
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47. a: b % y&% wg ¥ WS W gt g@@n frad | 47. The number that must be added to each term .

HIMT ¢ d a7, & of a : b so as to get the ratio ¢ : d, is :
ac + bd ac + bd

(M ' (1)
c+aq ct+a

@) ad#bc 5 ad + bc
c+d ) c+d

> ad - be ) @d=be

( Cfd\ c—d

4 Gb=cd ) b=cd

@ a<b @ 7%

(5) =TT TE [ Uy (5) Not attempted

N i
LIy |

48. fed TN & 3:5 % rgura & Ry fear | 48 A certain sum is divided in the ratio 3:5.

it T 'qm T75% @iy If the greater part is T 75, then the sum is :
(1) 130> (1) T 130 ol

() T 150" U ' (2) T 150
A3 240, 1 @) 7240 iy

(4) % 120- | 4) T 120

(5) SR T I Awd (5) Not attempted .

49.Hﬁ0<;7€:i;<1%,ﬁsfﬁf=fﬁﬂ'33°fﬁa@ 49,

If 0 <x <1, then the gréatest number among

e the following is :

M 20 M) 52

2 L | ‘ 2 L ~
( . 2) x
1 ¥ 3 —

©) 7O | | (3) 2 ;

@ x . (hox &

(5) werciTl e (5) Not attempted |
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50.

1.

1
A@mréﬁgwsﬁﬂ‘fﬁmm%

D
aﬂﬁﬁBUﬁTaﬂ&W?mlOﬁ?ﬁ'm

%lAamBaﬁrfﬁamwmﬁ
mﬁﬁ?ﬁ‘mmm%?

4
1 83

3
(2) 95 f.;,_.
3) 10

1
@ 75

(5) SR & I =R

e

T HeX qEE, A wEd, ﬁ%ﬁ% @ g
65 fert &, asehaaaﬁﬁzu%lomzm

| ¥ SEay wifay He wiw Bt

S2.

\
IKSHR / x3 Page 13

(1) 500
(2) 600

3) 700
() 200

(5) SaT 7 3T =@

AT B wHar: € 85,000 e 15,000 W
W ANR o fpar| o ad & AR, P A
" e & aver @ gy e ?

(1) 3:5 -
@) 15:3 pre
#3) 173 [
4) 3:4 r”\'
(5) = ¥ =

50.

S1.

52.

, 1
A can complete = of a work in 5 days and

3

2 .
B can complete 35 of the same work in

10 days. I‘n how many days both A and B
together can complete the work?

4
(1) Sg

3
@ 9%
(3) 10

1 ----- }
7= B
@ 75

(5) Not attempted .

A motorlst travelled between two towns

The speed in meters per mmute is:

(1) 500 _ e

(2) 600 "

(3) 700

(4) 200

(5) Not attempted :

A and B started a busmess by investing

% 85,000 and T 15,000 respectlvely In what
ratio, out of the followmg, their profits will
be divided after one year?

M3k
@) 15:3 =
3) 17:3 2
4) 3:4 —

(5) Not attempted

mﬁm T / SPACE FOR ROUGH WORK
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54. lséﬁwaﬁ@aﬁ%a‘maﬁﬂfﬁ,gﬁ

Waﬁﬁﬁ%uﬂﬁmm%’?
(1) 216

@6

(3) 218

4) 36 _

(5) Jax & I A

55. af /3=1.732 @ /2 =1414 &, @

1

——

N, RN

(1) 0.308
2y 0.318
(3) 2.146
(4) 0.064

(5) AT 7 & A"

53.

54.

SS.

X 1 2x _9

——— .

x—1 x+1 1-x

(1) 2
) 3
(3) 4
@1
(5) Not attempted

How many cubes of edge 3 cm can be cut

out of a solid wooden cube of edge 18 cm?
(1) 216

() 6

(3) 218

(4) 36

(5) Not attempted

If /3 =1.732 and /2 =1.414, then

1 1
m is equal to

(1) 0.308
(2) 0.318
(3) 2.146
(4) 0.064

(5) Not attempted
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56. af A + B @1 ard 2, 'A, B & arf 3y

57.

(5) T whl & e

58.

A - Bar ard &, A, B & Uy &y
A x B @& &g 2, 'A,B%ﬁ?ﬂ%f'
@ PxQ+R-Saadt:
@ Q. SHE -

@ SPa?ftrr—ﬁ%

(3) P. S % frar ¥ |

(Msé‘aw% _
(5)wa€t%mma

ﬁmﬁﬁaﬂﬂ%waﬁmﬁqum
™ ¥ dens % TR d9e @1 gug 5t Pk
AT Tl F HARTT BT 97 % pedyt e
Gefl

TO AR

1 23 456
(1) 3,6, 1,4, 5,2
(2) 3,6, 1,5, 2. 4
(3) 2, 4,5, 1.3, 6
4)4,2,1,06, 3,5

HU

W few w1 we dfig, W dE @ § S
YR Hefrg &, v weT{ e 9, WEd W §
wefim & g

& ;T ST 5

56.

If A+ B means 'A is brother of B'.
A — B means 'A is the husband of B".
A x B means. 'A 13 the father of B'.
Then P x Q + R-’_—fS means :

(1) Q is the h'usb:irild of S

(2) S is the wife of P

(3) P is the fatheir‘ ;)t‘ S

(4) P is the fathe‘l:ifn-law of S

(5) Not anempted—;

™

b

A set of English letters is given below in a

jumbled order. Select the combination of

numbers so that the letters arranged
will form a meaningful word.

R HU
1 2 3 4 56

accordingly

T 0O A

"
o
19

4, 5

»

. 1,5, 2

— -
- ]
— -
12 LY
4= =2
(=) 4=

- T W
N
42,1,6, 3

>
Not auempled -

/!H

. Choose the option: which is related to the

third term in the-same way as the second -
term is related to the first :

Pen : Write 1 Spade : ?

—

& (1) Dig 5
g?:: ‘?f | @) Cut o
@ don 4) Crush [
i (5) Not attempted
(5) S 7 ¥ =med
m1 i m—_——F ﬁ-‘iq I / SPACE F;: ROUGH wc;;x u CPTO.
- ¥ /? A H He RT
FIRL Mo P \ i R 2
b RS I vy w

YN )

.




o2

R

N
By

N

oV

60.

61.

)

L.

0

(4) =
(5) TaX FE 0 A

Q HUA I IES 91 & Ry [ efie 11 R o
¥ Ry g HUAl B T A 30 AR S e
T ag ¥ B A ) T wdE BN R, Pty e

fp @ W/ Trbd U g wuel % amu W
qeHET w0 ° Seadr ¥few

Fw W ARl wda ¥

T TEETR we ¥

- P AEr qeEER ¥
) v wdq =fEt ¥)

(1) ¥aw Fremd 11 frererar )

(2) Ty 1 ofX 11 <Y Praea )

(3) 7 @ ey 1 &f 7 & 1 freparan 21
Ay T Prewd 1 P 3

(5) ST & I e

foerd

E-JIE e & 9E, T 0 @ B W
3T BT TS | @ A e dip a b A

G = w gE R R ¥ wrs

@

(2) ufyam

(3) STR—uiye™

(4) =ty

(5) wat & I Gy

62. & q@wﬁgﬁﬁwqﬁmm;

IKSHR / X3/ Page 16

};j
J
A

143, 149, 158, 170,
185

() 190

(3) 192

(4) 182

(5) T TE T Ay

- ,203

59.

60.

61.

62.

Choose the odd one out :
(1) Quintal

(2) Kilometer

(3) Kilogram

(4) Gram

(5) Not attempted

Two statements are given, followed by two
conclusions I and L. Assuming the staterflents
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.

All oceans are mountains.

‘Conclusions : (I) Some rivers are oceans.

(II) Some mountains are
rivers.

(1) Only conclusion II follows.

(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows.
(4) Only conclusion I follows.

(5) Not attempted

Early in the morning after Sunrise, Sunny
was standing facing a pole. The shadow of

the pole fell exactly to Sunny’s right. Which
direction was he facing?

(1) East

(2) West

(3) North-West
(4) South

(5) Not attempted

Find the missing numbey in t
143, 149, 158, 170,
(1) 185
2) 190
(3) 192
4) 182

(5) Not attempted

he series -
—  , 203

(uy e, S (o
—)r;é’ﬁ‘ T+ /1 2+

T &1 % R0 T / SPACE FOR ROUGH WORK

P.T.O.
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63. TRl a9 ¥ wref e <en Ry ATt A, o T 9

& ST WM w1 arfm R @ enm?
(1) ghar

}fz'f SIEECIEY
(3) Er

(4) TeaX
(5) ST & AT 9y

64. '&zwﬁﬁX Y, Z, M, N iR O 3eX & &iX g
aﬂ%wwﬁ‘ﬁﬁ%% éﬁr—ranaawa—a%ﬁs
a@i’rwﬁs’n'z 'X'aﬁz'N'as—eﬁaﬁagT%|

ﬁmﬁwaé’r%l'Y' 'N'a;aa,-ara%,

'Ofaﬁﬁﬁﬁ, T T M 3 e w20
M ZadY

(2) O st X

(3) O 3k N

(4) X st N

(5) SaX T & =@Ed

65. o 1% Hz Wt & 'VIETNAM' &1 %2
'WKFVOCN' %, &t sdt g2 smr # 'BRITAIN'

& frw yar ferar e ?
(1) CTIWCIP

6) CTJVBKO
(3) CTIUCIP

(4) CTIWBKO

63.

64.

65.

The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between X' and 'N'. 'M" is not at the end. 'Y’
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are the neighbours of M?
(1) Zand Y

(2) O and X

(3) Oand N

(4) X and N

(5) Not attempted ‘

If in a code .language 'VIETNAM' is coded
as 'WKFVOCN!, then how will 'BRITAIN'

be written in the same code?
(1) CTIWCJIP

(2) CTIVBKO

(3) CTJUCJP

(4) CTJWBKO

(5) Not attempted

() Tt 1 2 e
% < @ % R T / SPACE FOR ROUGH WORK 92 P.T.O.
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66.

67.

68.

69.

70.

‘@HW'%&NQWWEWW
g ¥ -

(1) FyET

(2) FAET

(3) §3TI§FT

(4) PmEd

(5) ue A A
Ewmwwwﬁﬁm%
(1) fafrar gew

(2) BT ge¥

(3) =@ IW

(4) piwa oo

(5) wEX & T AR

ﬁﬁmmmﬁﬁﬂq%ﬁmwm
qE g T ?

L)

(l)agﬁﬂ%mm,ﬁaﬁwmm

|
(2) 387 @I, ﬁmmaﬁaﬂml
(3)38%%%%% 4
4) g= fra smﬁﬁags‘r?
(5) TUX & T =@

‘Herdl g5 ST & fg, SUgE qEET ¥ -
(1) =1y @gar! <
Q) o 4 om¥ ¥M
(3) & BT BTN =
(4) #er gt W S
(5) Tax & I WEd

T sm?maaf&mwgwquhm‘nﬁ KT -
(1) gd

(2) e@T - o)

(3) sifarat fr

(4) ATTa s

(5) 4T AE & -cnz%

it

72.

(S)W:@%mfrrs%

79

74. ¢

7S.

(2) BT e

(4) g

70, T R A T

(1) ==

(2) w9

(3) 7

(4) #

(5) wTT TE & frra%

aﬁzﬁrg&zéaﬁﬂ—m-sm e
(1) g7

(2) g
(3) @
(4) gi

ﬁﬁmﬁ%zﬁﬂ—me@m AHEB BT Th ¥T
e Y

LY
(1) TaERegTE

(3) sfengIs SR

o

(5) ST & I =R [

(I)Wﬁm%w&m
(Z)ﬁmi%m%sﬁﬁ“ﬁaﬁm
(3) ey e ¥ FERw
(4) memae SRreT it
(5) e @ I W

T m@faﬂ%aﬁnm‘r&mwﬁﬂg%
(1) areettees

/

U \

() it N
3) s >
(4) wiem [

(5) S TE < AR
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1950 & o § ,
Jff ' T T i 3 | 76. Civil Rights Movement of 1950's put an end

16. 7 ST g
ﬁ FE ST g Ef?[P T %Y | wg to social discrimination. From where did the
0 7.5 s o movement begin?
(2) 78 (2) FRANCE
(3) T N (3) GERMANY
4) 4,984, L (4) US.A. |
ES) FaX TRl %ﬂTﬂ'l‘s‘% (5) Not attempted
.-~ 77. Which country has taken over the
2 y -,
i W:;T g?aé 023 e & oh-20 = STEETT Presidentship of G-20 from India in the year
g : 20237
)z N (1) Canada -’
() TERT (2) Bangladesh™
3) EISIS] £ (3) Brazil 3
(4) zraeT STRIET (T : (4) South Africa
(5) FTX S SR . (5) Not attempte;d
3

- . . : -
: 78. How many functional units are there in

78, <R el TSI BT (eTEoTaeY) & Rear Indira Gandhi National Centre for the

FrieE FHEAl £7 | Arts (IGNCA)?
(1) 9 (1) Seven
@) . (2) Nine (o
(3) & i | (3) Three  —
(4) v 2 o) Fivef NI
ot ) N Y
_ [~ 79. Which of the E'f(_):llowing states is known as
7. ﬁqﬁlﬁgﬁ; 4 fepm, o @Y AT @1 A I 'Sandalwood state of India'?
e AT £ 7 oo (1) Karnataka®
(1) wtzas : (2) Meghalaya
2) Fun (3) Uttar Pradesh
8 ST TR (4) Chhattisgarh,
(4) e r::, (5) Not attem}%t:gd
(5) e T8 e 80. Match the follgwing :
R List-T ' List-II
8. P g maro A. Rowlatt Satya
gﬁﬁ]ﬁaﬁ'ﬁﬁq: - Rowlatt Satyagraha I 1918
Tl ; -i 11 B. Civil dlsoggﬂience II. 1919
A e movemen
B Ttz AT . [ 1918 C. Mill workers' strike L 1922
- W g i 1. 1919 D. Non-cooperation IV. 1930
g' firm g @ F=ard L. 1922 : movemeri_lzf‘ _ )
=T'|'%; ‘;“;F‘fm AT V. 1930 EI;OOSC the carrect answer from options
< fraedy gﬁq : elow : -
(1) A-u;Tq W g (1) A-I1I, B-IL'C-1, D-IvV
@) Ak B-IL G DIV
) AN BV o (2) A-IL, B-IV; C-I, D-III
G) AL, g oore DI (3) A-IlL, B-Ly €-IL, D-1v
(4) Ay ’B -1, C-1I, D-1V 4) A-11, B-1, C-IV, D-III
(5) v’ 8-, C-1V, D-11I 5) Not attempted
) Ty T el _ ( p
W
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_’

o & HUITE WS A e B

@

(3) afY W

(4) &

(5) wa T & A

W%ﬁﬂr{éqﬁméﬁaﬁ{aﬂma@
TETEY BT & 7

(1) smeeferan

(2) ST

(3) I=THIEHT

(4) g

(5) STX & A1 AT

82.

83. T rew Ryt (TUEE)) @ e few ad
T ar?
(1) 1975
(2) 1959
(3) 1950
(4) 1976
(5) ST E I e

STHEANT I & 99 a4 fpar AT S fEmt
¥ fr=fofag ®§ @ f6a am & omr @ & i ?
(1) 9 9o

(2) 9UR™

(3) IEHEER

(4) @s1

(5) waT & AT TR

84.

85, Tar argHed Rea ¥ fewiid ¥ 2
(1) ura

(2) Tra

@)

(4) ¥

(5) TET A& AT AT

81.

82.

83.

84.

8S.

ate in India was the first one to

ich St
Which Mid day meal scheme?

introduce
(1) Tamil Nadu

) Karnataka

(3) Andhra pradesh
4 Kerala

(5) Not attempted

Which is the second largest continent after

Asia in terms of area?
(1) Australia

(2) Africa

(3) Antarctica

(4) Europe

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1975

(2) 1959

(3) 1950

4) 1976

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in :

(1) Chauri Chaura
(2) Champaran
(3) Ahmedabad
(4) Kheda

(5) Not attempted

Our atmosphere iS diV ed 1
id
| : d nto hOW many

(1) Five

(2) Seven

(3) Nine

(4) Eight

(5) Not attempted
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86. TS fhde fam S A wiF feg 29 & R | 86. Famous cricketer Ben Stokes plays

3 Fohe g g international cricket for which country?
(1 ‘ (1) New Zealand
(2) s (2) England
&) smferan (3) Australia
(@) Jw=E (4) West Indies
(5) ST T 4\l (5) Not attempted

g7. fra ad &g BRI USLICIU Rt pe 6 e 87. In which year did the Congress and the

e e g7 Muslim league sign the Lucknow pact?
(1) 1909 (1) 1909
(2) 1915 2) 1915
i
@) 1906
(5) SO TE I TGy (5) Not attempted
: : - . . | 88. In Mahatma Gandhi National Rural
3. i i IS A aifiram, Employment Guarantee Act 2005
200_5 (FTEm) § WA a@R ¥ af § fpam (MGNREGA), how many days of
R & o @t sy & &7 employment are guaranteed in a year by
(1) 75 fe= the Indian Government?
(2) 100 f&= ; (1) 75 Days
(3) 90 Days
4
) 120 %71' (4) 120 Days
(5) SaT =&l <= aEd

(5) Not attempted

89. Tzl % ot 2019 % fe ¥RE T F R 89. Who won the

'‘Bharat Ratna Award' for year

Eii ¥ 2019?
(1) v gt (1) Pranab Mukherjee
“(2) =i YU &SGR ‘ (2) Dr. Bhupen Hazarika
3) @, d.ov.em. T (3) Prof. CN.R. Rao
4) @ ffgee @ ‘ : - (4) Ustad Bismillah Khan
(5) TT & ey ; (5) Not attempted
%, - Y T 1 90. zl}])hif:ldit«):;d ds.es not make its own nest?
(1) an rooin
Q) i fes | 2) Ko.el '
5 I (3) Tailor bird
) e fafear (4) Weaver bird
) o fafear (5) Not attempted
ks & / SPACE FOR ROUGH WORK
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91.

92.

93.

94.

9s.

Change the following sentence to indirect

speech.

He said, "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambidr had worked hard.

(3) He said that Nambiar had been working
hard. bt :

(4) He said that Nambiar worked hard.

(5) Not attempted -
v

Choose the correctlyspelt word :
(1) incradulous

(2) incredulous

(3) incredulus

(4) incradulus O

(5) Not attempted <
CcDh
Pick out the part ofsthe sentence which

“has an error. If there is-no error, your answer

l"\l

is e
The whole block of ﬂats /
A
including two shops were /
. B .
destroved in the earthgquake.
C D
() B &)
2) C o
(3) No error [
4) A i

(5) ,Not attempted [

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé?

(1) Must this tree wds cut?

(2) Must this tree becut?

- (3) Must this tree is cut?

(4) Must this tree will-cut?

(5) Not attempted 1

e

Find out the synonym of the underlined word

in the following sentence.

Colours, like featurés) follow changes of |

emotions. 5
(1) movements D
(2) sentiments @i

(3) under-current [~
(4) moments H
(5) Not attempted ([~

96.

97.

98.

99.

Replace the underlined word/phrase with an
alterpative to make a grammatically correct
sentence.

"The ladder will be collap_se if you push the
wall with both the hands.

(1) will have collapsed

(2) will have been collapsing

(3) No change v

(4) will collapse I

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour

(1) at a crucial tlmc;

(2) before an hour ..

(3) at the last minute.

(4) in the beginning

(5) Not attempted

Fill in the blank with’correct form of verb.
Neither of the two iﬁen very strong.
(1) was A
(2) will be 1
(3) shall be e
(4) were rﬂ

(5) Not attempted

Arrange the following parts of the sentence
to make a meaningful sentence.

A. to understand (“"'

B. to many people

C. threatening and" eVen impossible

D. grammar appears

(1) BDCA r
(2) DACB b
(3) ADBC
(4) CABD

(5) Not attempted 1

100. Find out the antonym1 of 'democracy'.

(1) republic ™ 't
(2) delicacy 3
(3) monarchy Lf'_"

(4) popular
(5) Not attempted
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